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Q 1) Fill in the blanks:

a) 2 x 8 =
b)10 x 5 =
c)4 x5 =

d) 3 x 8 =

e) 10 x 8 =

f) 3 x 6 =
g)4 x 2 =
h)4 x7 =
i) 5 x 6 =
)3 x 4=

k) 2 x 9 =

Q 2) Fill in the blanks:

1. Skip counting by 3

Maths Practice Sheet

Skip Counting

3 9 18 27
2. Skip counting by 5
5 15 25 45
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Q 3) Subtract the following:

a) 74 b) 88 c) 35 d 37

e) 66 f) 43 g) 61 h) 86

i) 52 i) 94 k) 50 ) 77

m)5 6 n) 35 o) 82 p) 91
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Q 4) Solve the following:

a) Rohit has 9 cars. He gave away 6 cars to his brother. How many cars does he
have now?

Ans - T (o)

U

b) There are 29 students in a class. If the number of boys is 15, find the number
of girls in the class.

. ]

c) Radhika brought 68 toffees to her class. She gave away 66 toffees to her

classmates. How many toffees were left with her?

T O

]

d) Geet has 76 pens. She gives 42 pens to her brother. How many pens does she

have now?

U
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